ER-IEHRREE-ER 645 A 23AHE

REEE ITHESRE

TR 3R BRE
HEH — R K HE
HETHEEFELOH -l |[HEMK
. G2KE) |REmESEHEE (14
(EWKE) |TERSEHBEE (117
REFIFEE=7.3, MRG58, 52)II5E18i=6.8, TEMIIIRIH=78,
SREIRE=2.6, FE)IRE=8.6, REMIIIIE=6.6, FER)IIFE=2.3,
FIFE)IFRI=6.3, HTHEIFE=3.2, MFER)IFEH=3.9, 5&)IFiE=4.2,
ZABNRE=5.1, BEANRE=7, @#)I5RE=3.4, #815)7E=27,
BEFIFE=35, 7)I5E=5.3, #BE)IFE=12.2, /NEF)IRiE=9.2,
st T B B RERE=17.2, FHE)IRE=104, BEE)IRE=5.8,
AN ERTE HNEEE=75, BR)IGEE=7.7, Bik)IFE=10.7, SAE)IjE=8.2,
[BH)IRE=6.4, KODA)IFE=5.7, BIIFE=8.2, &)IIFE=106,
Ei@)IFRE=14, NENIGRE=9.7, BEE)IRE=17.8, 85K F)IFE=54,
ik +RAIFRE=9.2, BEFNFRE=77, HS)IFE=5.2, FI/IFE=47,
BARJIFRE=76, BEANIFE=112, HE)I5E=528 FEIFiEHE=4,
ERFRNGRIE=3.5, FEEF)IRE=1.7, E£F)IKKEREE=37.3
24
INEFRE=(7, 5.2), B)IFRE=(7, 6.1), FEMIIFE=©, 7),
A HONFRE=(9, 3.6), BFFEBIIFRE=(11, 45), S#)IFRE=(7, 3.1),
= P GRE=(7, 28.2), B)INIGRE=(7, 7.3), J)IFRE=(7, 6.2),
+RIFRE=(7, 8.5)
f;igfgg*%*ﬁ LRIAR-FPE- LB K- %51, B [EK- B8]
T 5 fE L 20m/s
A THRR B 25m/s
= - . B E 20m/s EEHES
AR FHRE BE 25m/s BEMES
= 8T ()T Fih 1285 E D FES25cm
= REQRS IR 2B E O E350m
KR HERS 6.0m
=8 AL 1.2m
*7H REMEEHEE [9
TIERSIEHEE |92
B )IRIZ=5.8, NME)IIFE=4.2, 3| 8=5.4, TEM)IFE=6.2,
smEIRE=2, #E)IFRE=6.8, AAR/M)IFE=52, FER)IFKE=17,
FIRFE)IFRIE=4.9, FTEIFE=2.5 MBER)FEH=3.1, ;5&)IFE=33,
ZARGRE=4.1, BEA)IFE=5.6, Z#)5E=2.1, #818)RE=21,
BEFNIFE=2.7, FRRE=4.2, #E)IFE=9.7, /N IRE=7.3,
S T B A WZNIFRE=13.7, FHE)IFIE=8.3, &ER)IIRiE=4.6, FNE/IiE=6,
AN TE TR )IFEE=6.1, BIE)FRi=8.5, EAF)IIFE=6.5, [REJIIFE=51,
RIDANIFE=46, BEIFE=6.5 J/IRgE=84, Z&IFHE=112,
INEBIGFRE=7.7, BE)IGRE=14.2, 88T NI5RE=4.3, +R)IRE=7.3,
sk )IFRE=6.1, WmA)E=4.2, FHI)IFE=3.8, BAJIIFE=6
/8 ERNIFRE=8.9, $'=)IE=4.6, F58)II515=3.3, &AaFIIFE=27,
BEZFNRE=1.3, E£R)IHBUKERIE=29.8
REF)IRE=(5, 5.8), /NEIFIE=(5, 4.2), TIFRE=(5, 5.2),
EEMIGE=(7, 5), FERE=(5, 6.8), AAAMIFE=(5, 5.2),
e FHFNIFRE=(5, 3.6), MMFR)IFRLEL=(5, 3), HRNIFIH=(7, 2.6),
= ZABNRE=(5, 3.8), HFRBIFE=(5, 4.1), SHIFH=(7, 1.6)
WP IGRE=(5, 25.4), FNEE)IRE=(5, 6), BIIIIFE=(7, 5.2),
JENIFEE=(7, 5.6), +REIFE=(5, 7.3)
BEMNGATR | R P E- Lo K2 RH], #F I [BA-BEE]
SEEH
= T ; L 12m/s EEHES
R= TR B 15m/s BEES
= 8 T () T it 1285 E D FES15cm
*E REDRS ITEA) 2B BB E O FE250m
KR HERS 3.0m
=8 AL 0.8m
& FEEICLVEENTEINDSE
BME
2B Wiz f",ﬁ 130m
)% =/NEEA0% TEMEE65%
OEEDRS100cmLl L DIHE
QBEEDFS 50cml LHYRDOWT
mfhn 1 BEDFEES0cm L
2 BEKEASCULE?
3 MEYDER
&R BETE4CUT "
B BFEL RIESBICUT
&K
%= 1285 R E DS : T 15emA £ ILAL25emiLl £
= KiB:-2°C~1°C

RO EX A 55 B [ KRR 3

1BEmE [100mm

HEREWERY REREER OBAEDOEICLIEEEERLTVET,

T SBRNTHAERREDIE,
* SEEIIHARREDIE,



